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QUESTION 1

What is a key characteristic of a disaster recovery (DR) solution compared to a high availability (HA) solution? 

A. DR always requires human intervention while HA always is automated 

B. DR means doubling all equipment in 2 separate sites while HA means doubling all equipment in a single site 

C. DR only protects from natural disasters (fire, flooding, earthquakes etc) while HA only protects from IT equipment
outage 

D. DR protects from outage of a complete site while HA protects from outage of one or several individual elements in
the IT infrastructure 

Correct Answer: D 

 

QUESTION 2

A newly installed TS7720 Virtualization Engine has recently been integrated into a three-way grid. The logical volumes
created in the other two systems are not properly being replicated to the new system. All local IBM and customer
support resources have been exhausted in trying to determine the cause with no resolution in sight. What should be the
next step to try to resolve the issue via IBM? 

A. Contact local PSR to escalate 

B. Contact the local SSR to escalate 

C. Contact the local software provider to escalate 

D. Contact the sales representative to escalate 

Correct Answer: D 

 

 

QUESTION 3

What is the key advantage of the IBM TS7720 over the EMO DLm? 

A. Larger maximum capacity 

B. Virtual drive scalability up to 256 

C. Supports bi-directional replication in a grid 

D. Deduplication which does not use hashing algorithms 

Correct Answer: C 
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QUESTION 4

An existing TS7740 customer has chosen to upgrade with additional 200 MB/sec Enablement and 7 TB Tape Cache.
Which of the following is the best business objective on the above upgrade? 

A. The customer would like to improve OLTP application response time 

B. The customer would like to improve the RTO (Recovery Time Objective) 

C. The customer would like to improve the tape backup jobs processing time 

D. The customer would like to improve the RPO (Recovery Point Objective) C 

Correct Answer: 

 

QUESTION 5

What is limited by Performance Increments in the TS7700? 

A. Host Read only 

B. Host Write only 

C. Host Read and Write 

D. Host Read, Write and Grid Replication 

Correct Answer: B 
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